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Introduction: Sometimes, you will encounter word problems that require multiple steps 
to solve. A bar model can be used as a visual representation of the problem. Bar models 
allow students to break the problem into simpler parts. They can also create opportunities 
for fewer steps. The following lesson is designed for use with grades 4-6. (*Note: Bar 
Models may vary.)  
 
 
Example# 1
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Bar Model 
 

First 8  8  8  8  8  8  8  8  8  8  8  8  T=96   
384 Second   8  8  8  8  8  8  8  8  8  8  8  8  T=96  

Third  8  8  8  8  8  8  8  8  8  8  8  8  T=96  
Fourth 8  8  8  8  8  8  8  
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You Try # 3: A sweater is on sale at the mall for 75% off the original price of $38.00. 
What is the new price of the sweater?  
 

00.38$  
50.9$  50.9$  50.9$  50.9$  

 

 
 
 
 

 
 
 
Example # 4: Given the following bar, create a word problem that could be used. (Word 
problems will vary) 
 

 
 

x  
y  5  11 

 
 
Sample Word Problem: Laura was assigned math problems for homework ( x ). She 
completed half the problems in class ( y ). In the car, she completed 5 more problems. 
She still had 11 problems to complete. How many math problems did Laura have for 
homework? 
 
You Try # 4: Given the following bar, create a word problem that could be used. (Word 
problems will vary) 
 

70.12$  
20.2$  50.1$  50.1$  50.1$  50.1$  50.1$  50.1$  50.1$  

 
 
Sample Word Problem: Tom takes a taxi to work. There is a flat rate of $2.20. Each 
mile is calculated at $1.50. If Tom’s final cost for the taxi is $12.70, how many miles did 
Tom travel? 
 
 
 
 
 
 
 

%25 of $38 

∴ The new price of the sweater is 50.9$ . 




